MIAMIDADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
BUILDING AND NEIGHBORHOOD COMPLIANCE DEPARTMENT (BNC) 11805 SW 26 Street, Room 208

BOARD AND CODE ADMINISTRATION DIVISION Miami, Florida 33175-2474
T (786) 315-2590 F (786) 315-2599

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/building/home/asp

BP Glass Garage Doors & Entry Systems (div of BPC)

9412 Gidley Street

Temple City, CA 91780

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control
Section and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and
other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product
Control Section (In Miami-Dade County) and/or the AHJ (in areas other than Miami-Dade County) reserve
the right to have this product or material tested for quality assurance purposes. If this product or material
fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ
may immediately revoke, modify, or suspend the use of such product or material within their jurisdiction.
BORA reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product
Control Section that this product or material fails to meet the requirements of the applicable building code.
This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Models BP-350/BP-450 HD Aluminum and Glass Sectional Garage Door

APPROVAL DOCUMENT: Drawing No. BPC003, titled “Glass Garage Door” sheets 1 through 6 of 6,
dated 06/01/09, prepared by CertWorks, LLC, signed and sealed by Kristina S. Daugherty, P.E., bearing the
Miami-Dade County Product Control approval stamp with the Notice of Acceptance number and approval
date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement

of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and

followed by the expiration date may be displayed in advertising literature, If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.
This NOA consists of this page 1 and evidence page E-1, as well as approval document mentioned above.
The submitted documentation was reviewed by Carlos M. Utrera, P.E.

w 0 NOA No. 10-0802.02

‘ - Expiration Date: January 13, 2016
| APPROVED |

/ 2‘/ Y Approval Date: January 13, 2011

Page 1



BP Glass Garage Doors & Entry Systems (div of BPC)

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A, DRAWINGS
1. Manufacturer's die drawings and sections,
2. Drawing No. BPC003, titled “Glass Garage Door” sheets 1 through 6 of 6, dated
06/01/09, prepared by CertWorks, LLC, signed and sealed by Kristina S. Daugherty,
P.E.

B. TESTS
1. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Forced Entry Test, per FBC 2411 3.2.1, TAS 202-94
along with installation diagram on three Series/Model BP-350/ BP-450 HD Hurricane
Line, glazed sectional garage doors, prepared by Architectural Testing, Inc, Test
Report No. 97392.03-301-18, dated 06/04/10, with Revision 2 dated 11/03/10, signed
and sealed by Joseph A. Reed, P.E.

C. CALCULATIONS:
1. Product evaluation report, complying with FBC-2007, prepared by CertWorks, LLC,
dated 07/22/10, signed and sealed by Kristina S. Daugherty, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Building and Neighborhood Compliance Department (BNC)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance with FBC 2007 and no financial interest, issued
by CertWorks, LLC, dated 07/26/10, signed and sealed by Kristina S. Daugherty, P.E.
2. Laboratory compliance letter for Test Report No. 97392.03-301-18, issued by
Architectural Testing, Inc., dated 06/07/10, signed and sealed by Joseph A. Reed, P.E.

/6% /2%20 19

/ Carlos M. Utrera, P.E.
Product Control Examiner

NOA No. 10-0802.02

Expiration Date: January 13, 2016
Approval Date: January 13, 2011



12/2/2010 8:12 AM

p:\projects\bryce parker companv\rﬁd—p—%-OSZi\dwgs\bptOdB glass garage door.dwg

INSTALLATION NOTES:

1. ONE {1} INSTALLATION ANCHGCR IS REQUIRED AT EACH ANCHOR
LOCATION SHOWN.

2, THE NUMBER OF INSTALLATION ANCHCRS DEPICTED IS THE
MINIMUM NUMBER OF ANCHORS TO BE USED FOR PRODUCT
INSTALLATION.

3. INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A
TOLERANCE OF +1/2 INCH OF THE DEPICTED LOCATICN iN THE
ANCHOR LAYOUT DETAIL (LE., WITHOUT CONSIDERATION OF
TOLERANCES), TOLERANCES ARE NOT CUMULATIVE FROM ONE
INSTALLATION ANCHOR TO THE NEXT.

4. SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD

BEARING SHIM(S). MAXIMUM ALLOWABLE SHIM STACK TO BE 1/4

INCH. SHIM WHERE SPACE OF 1/16 INCH OR GREATER OCCURS.
SHIM(S) SHALL BE CONSTRUCTED OF HIGH DENSITY PLASTIC CR
BETTER.

5. FOR INSTALLATION INTC WOOD FRAMING USE 3/8 INCH LAG
SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 3 INCH MINIMUM
EMBEDMENT INTO WOOD SUBSTRATE.

6. FOR INSTALLATION DIRECTLY INTO CONCRETE/MASONRY, USE 3/8
INCH DIAMETER CONCRETE FASTENERS OF SUFFICIENT LENGTH TO

ACHIEVE 2 1/2 INCH MINIMUM EMBEDMENT.
7. FOR INSTALLATION THROUGH STEEL STUD, USE 3/8 INCH

DIAMETER STEEL BOLTS OF SUFFICIENT LENGTH TO ACHIEVE 3
THREADS ENGAGEMENT OF EMBEDMENT.

8. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WALL

FINISHES, INCLUDING BUT NOT LIMITED TO STUCCO, FOAM, BRICK

VENEER, AND SIDING.

9. INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE
MADE OF CORROSION RESISTANT MATERIAL OR HAVE A
CORROSION RESISTANT COATING.

10.FOR HOLLOW BLOCK AND GROUT FILLED BLOCK, DO NOT INSTALL
INSTALLATION ANCHORS INTO MORTAR JOINTS. EDGE DISTANCE
IS MEASURED FROM FREE EDGE OF BLOCK OR EDGE OF MCRTAR
JOINT INTO FACE SHELL OF BLOCK.

11.INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE
WITH ANCHOR MANUFACTURER'S INSTALLATION INSTRUCTIONS,
AND ANCHORS SHALL NOT BE USED IN SUBSTRATES WITH
STRENGTHS LESS THAN THE MINIMUM STRENGTH SPECIFIED BY
THE ANCHOR MANUFACTURER.

12 INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS HEREIN ARE
BASED ON SUBSTRATE MATERIALS WITH THE FOLLOWING
PROPERTIES:

A. WOOD - MINIMUM SPECIFIC GRAVITY OF 0.55.
B. CONCRETE -MINIMUM COMPRESSIVE STRENGTH OF 2700 PSI.

C. MASQONRY - STRENGTH CONFORMANCE TO ASTM C-90, GRADE

N, TYPE 1 {OR GREATER).
D. STEEL- MINIMUM YIELD STRENGTH QOF 33 KSI. MINIMUM
WALL THICKNESS OF 118 MILS (11 GAUGE)

BP - GLASS GARAGE DOORS &

ENTRY SYSTEMS

A DIVISION OF

BRYCE PAR

BP-350/450 HD HURRICANE LINE

GENERAL NOTES:

1

THE PRODUCT SHOWN HEREIN IS DESIGNED AND
MANUFACTURED TO COMPLY WITH THE 2007 FLORIDA
BUILDING CODE {FBC], INCLUDING HVHZ AND HAS BEEN
EVALUATED ACCORDING TO THE FOLLOWING:

+ TAS 201-54

» TAS 202-94

o TAS 203-54

. ADEQUACY OF THE EXISTING STRUCTURAL

CONCRETE/MASONRY AND 4% FRAMING AS A MAIN WIND
FORCE RESISTING SYSTEM CAPABLE OF WITHSTANDING AND
TRANSFERRING APPLIED PRODUCT LOADS TO THE
FOUNDATION IS THE RESPONSIBILITY OF THE ENGINEER CR
ARCHITECT OF RECORD FOR THE PROJECT OF INSTALLATION.

. 4X BUCKS (WHEN USED} SHALL BE DESIGNED AND ANCHORED

TO PROPERLY TRANSFER ALL LOADS TO THE STRUCTURE.
BUCK DESIGN AND iNSTALLATION 1S THE RESPONSIBILITY CF
THE ENGINEER OR ARCHITECT OF RECORD FOR THE PROJECT
CF INSTALLATION.

. THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC

AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

o
< 2
& W g
! y - Qa0 AN 3
! ozl Iyes
wo g > 2
0Pz NI
¥ - g
< o VX x
o 3 -3 ol
< Oz <
A B % VN
ny < o LY
g nZ o A %
o bl gx2Z2
. H o w e
| Gy [fes=E
P o cW=z" g
T} . .
F g o =
<
Fa)
TABLE OF CONTENTS >
o)
SHEET |REVISION SHEET DESCRIPTION 0
1 INSTALLATION & GENERAL NOTES Z
2 ELEVATION, ANCHOR LAYOUT, & DETAILS O
3 VERTICAL, HORIZONTAL SECTIONS & GLAZING DETAILS (. %
4 HORIZONTAL SECTIONS |L£|) 2
a.
4 BILL OF MATERTALS & COMPONENTS > P,
O
4 COMPONENTS tyl 9
o) o
DESIGN PRESSURE RATING

. APPRQOVED IMPACT PROTECTIVE SYSTEM 1S NOT REQUIRED

ON THIS PRODUCT IN AREAS REQUIRING IMPACT RESISTANCE.

. DOCR FRAME MATERIAL: ALUMINUM 6063-TS

. GLASS MEETS THE REQUIREMENTS OF ASTM E 1300 GLASS

CHARTS. SEE SHEET 3 FOR GLAZING DETAIL.

. EPDM GLAZING GASKET HAS BEEN TESTED IN ACCORDANCE

WITH FBC 241134,

ﬁ
|
?

i

BP-GLASS GARAGE DOORS & ENTRY SYSTEMS

BRYCE PARKER COMPANY, THC.

4412 GIDLEY STREET
TEMPLE CITY, CA 91780

PH: (626) 442-1716 FX: (626) 579-5320

DESIGN PRESSURE - ALL SIZES

MISSLE IMPACT RATING

+65.0 / -65.0 PSF*

SMALL AND LARGE
MISSILE IMPACT RATED

*REMOVABLE REINFORCEMENT REQUIRED

{NOT RATED FOR WATER})

KAISTING S DALGHERTY
£ NO.58253

FLORIDA P.
127 W, FAIRBANKS'SVE, STE-438

WINTER PARK, FL 82788
FEPE CERT. OF AUTHORIZATION NO. 28520

SCALE:

NTS




= " ‘u— ™ e

2ot - 216.00" (18'0") 0.A. DOOR WIDTH : |
Cﬁ%@ﬁ%ﬁgﬂ BT BceTS L OFFSETUPTO
A \, »~ BYOTHERS | | 120" FROMMIDSPAN -~ DETAIL 4
() | =’{ﬂ | ¢ 2 BP-GLASS GARAGE DOORS & ENTRY SYSTEMS
e . (ﬂ -~ DETAILL s GloLey STREET
3 TEMPLE CITY, CA 91780
i B ( K PH: (626) 442-1716 FX: (626) 579-5320
Y il 7 ] W W N = 8 .
/ 51.75" MAX. | 4 19.25" MAX. | | i/ | l I 4 | bETALL 2 « 5 ;—: N
| ™ PANEL/DLO WIDTH ., IlPANEL/DLC HEIGHT! | —~— > 0
1 /4 i Wi | # sa 33 3 a8 2
° = = SV P wg 9 >R
Y Y i V. W N OIE| L5
3/8“—/ AR g g | /|| |/ DETAIL 5 EVY Y6 25| zox¢®
INSTALLATION <<Wl. 325
ANCHOR 00" < 2
) . |y 1 /AN (80" 0.A, ap e gEE
ANCHORS DETAIL 6 DOOR =S @ ot He
24.00" O.C. 4 I 4 /4 HEIGHT iy [f4@ x 3 g
DISTANCE ! - E o | & &
wax ] , P Bl n Pl
| A W z
1/8" 5052 ALLOY ' I o
ALUMINUM PANELS | | | | - | | | —DETAIL3 >
: OPTIONAL ) o
9.00" FROM 1/4" 20 BOLTS ° AT ANY SECTION _ ¥ A4k V)
BOTTOM : il [ L L Z
<D S
BP ALUMINUM BRACE H| 3
REMOVABLE REINFORCEMENT DETAIL 7 ~— 54,00" E\%( (TYP) 54.00" E\(}k (TYP) ~ 54,00 E&x (TYP) 54,00" Eﬁx (TYP) VIl E
(PERMANENTLY ATTACHED NEAR DOOR : : : : : : ' : - =
OPENING USING 1/8" THICK AIRCRAFT =>1
CABLE) ] Ll 3
REFER TO MANUFACTURER' S 1/8" AIRCRAFT CABLE - ATTACH ol &
ONE END TO ITEM 23 AND THE
INSTALLATION MANUAL FOR STEP BY D 0 e 11
T T
STEP INSTRUCTION DETAILS SUbSRaTE
ANCHOR LAYOUT INTERIOR ELEVATION
DETAIL 1 DETAIL 2 DETAILL 3 DETAIL 4 DETAIL 5 DETAIL 6 DETAIL 7 g;’g
_ . _ ggﬁé
] ¥ |20y
/ o nggg
o L1 I'I:B L
=i 9]
* o8 >0/ L.l:'
A - T3]
L. \--._______- e 8 E
‘ e
SHEET: 2 O F 6




| {;
3.0" MIN ITEM 21 - THROUGH BOLT WITH WING I
~ = EMBEDMENT ITEM 14 AND 15 ARE ADJUSTED NUT (SCREW IN FINGER TIGHT AND KEEP |
INPLACE DURING FIRST ATTACHED TO ITEM 12 DEFLECTION ]
INSTALLMENT, THEN REMAIN BRACKETS WHEN REMOVABLE |
PERMANENTLY ATTACHED TO REINFORCEMENT IS NOT IN USE) | 21 B7-6LASS GARAGE DOORS  ENTRY SYSTEMS
ITEM 13 THEREAFTER | BRYCE4PAIZKER EOMPAEJY, INC.
@\ | G 2o
] PH: (626} 442-1716 FX: {626} 579-5320
Q00000
I O « "
H < b
o 3 < . =
A = o N
3 ANCHORS PER TOP J’J S E Wl E ® 3
BRACKET REQUIRED S Q9 3 %jﬁ S
/@ ';D: b, N V< :; :
e 223 &8%°
REFER TO MANUFACTURER'S | <3|, 2 25,
INSTALLATION MANUAL FOR STEP | nE3laE 23
@\ BY STEP INSTRUCTION DETAILS ON I npZ|8 €55 3
. REMOVABLE REINFORCEMENT , A oS E o € ; g
'j b > o & = ;
0.A. DOOR , H |l o 2
HEIGHT
B
5/16" O.A. LAMINATED 6LASS m VERTICAL SECTION <
@\ CONSISTING OF: @ INTERMEDIATE RAIL
— 1/8" AIRCRAFT CABLE - 1/8" ANNEALED 6LASS %
ATTACH ONE END TO ITEM 0.100° PVB INTERLAYER —={ |=— 1/8" ALUMINUM PANEL
21 AND THE OTHER END TO 3/32' ANNEALED 6LASS %
/B VERTICAL SECTION THE NEAREST SUBSTRATE. i~ T -~ GLAZING GASKET S
7 ~ GLAZING GASKET P 7 MINIMUM .
Q/ TOP RAIL y MINIMUM DUROMETER = 70 / ; \, DUROMETER =70 ol I
/ \ / 7 \ nl &
Z Hl s
| b / \ / | =>| &
| | % / w4
: \ / I’ P 2 I! rod =
| vt M 7 14" MIN. 7
| /@ cLass BITE *\ | [ <G| 5 PANEL BITE *\ || -
| NI ~ f N Lj‘?’ _
AN '
0.A. DOOR = .
HETGHT ): /( GLAZING DETAIL PANEL DETAIL = s 0
* :‘ s '?m';
oooooo R gty 1
% /. qu o
o5 I - E | E}\)EE’%E
@\_ @ 3 ANCHORS PER BOTTOM BRACKET REQUIRED %mu . o E;‘“E“
22 11 (SCREW IN FINGER TIGHT AND KEEP IN PLACE Florida ) s rQ veZig
WHEN REMOVABLE REINFORCEMENT IS NOT IN - Sz T
4 G) USE TO KEEP HOLES FREE FROM DIRT AND DEBRIS) :
— * . o[>
= - - 1 £ = z 1 - 8 @ é t n
ot a0 sl 158t MIN Ec_ zZQ }gf—’igl;_,
‘q S T 0 %8 4 4 EMBEDMENT sgIZ275 |9
/A VERTICALSECTION (D \HORIZONTAL SECTION " BPCO03

@/ BOTTOM RAIL \3/ VERTICAL MULLION

SHEET: 3 OF 6




3" TRACK

3" TRACK

9P

LOAD BEARING
SHIM UP TO 1/4" 1OR 1X/2X
WOOD/STEEL FRAMING BY OTHERS

MIN. 1/4° X 1-1/4" FILET —[ 3
WELD REQUIRED AT (|[D 5
EACH SLOTTED ANCHOR

— B.00" MIN. JAMB |
~——  8.00" MIN. JAMB —] 3" TRACK CLEARANCE
CLEARANCE [-—  8.00" MIN. JAMB ——» 2" TRACK
2" TRACK CLEARANCE — 6.00" MIN. TAMB -
CLEARANCE 3/8" LAG SCREW — | 6.00" MIN. JAMB —= BP-6LASS GARAGE DOORS &ENTRY SYSTEMS
WITH MIN. 3" CLEARANCE " . BRYCE PARKER COMPANY, INC.
3 1/2" MIN EMBED. 3 1/2" MIN " MASONRY 3412 GIGLEY STREET
EDGE | CONCRETE \ 3/4" MIN EDGE +—FILLED WITH TEMPLE CITY, CA 91780
DISTANCE . BY OTHERS i DISTES%E DISTANCE GROUT PH: (626} 442-1716  FX: (626) 579-5320
o
<. 3/8" DIA. HILTI { 00 | 3/8" DIA.HILTI o0 Q 2
‘ A KWIKBOLT3 » 4X WOOD ‘ KWIKBOLT 3 Oz o o
. s 4, EXPANSION 5" MIN BUCK BY . . EXPANSION OOQ uEE 3
2 1/2" MIN ANCHOR EMBEDMENT OTHERS 2 1/2" MIN ANCHOR DE 5 = INLES
EMBEDMENT EMBEDMENT W o S o8
] LR Q <=
_ : < | X G R R
. S g = S X
—— 1 <ful. Q2%
g Ny Wz O = E 3u 8
on o
\ \ \ wR 3o B AE §
e Rl wov  |os2llrgcér
OPTIONAL CPTIONAL E$ g S é@ E g
LOAD BEARING LOAD BEARING | £ o 2
LOAD B " o -
SHIM UP TO 1/4" OR SHIM UEA%NG1/4.. OR SHIM UP TO 1/4" OR
1X/2X WOOD/STEEL 1X/2X WOOD,/STEEL 1X/2X WOOD/STEEL
FRAMING BY OTHERS FRAMING BY OTHERS FRAMING BY OTHERS
WHEN USED WITH WHEN USED WITH WHEN USED WITH
DRYWALL DRYWALL DRYWALL
/EHORIZONTAL SECTION /F\HORIZONTAL SECTION /G\HORIZONTAL SECTION g
W JAMBS - DRYWALL OVER CONCRETE WJAMBS- DRYWALL OVER 4X WOOD FRAME \4/ JAMBS - DRYWALL OVER CMU
ANGLE MOUNTED ANGLE MOUNTED ANGLE MOUNTED @)
H| &
3" TRACK V] =
3" TRACK [~~— 8.00" MIN. JAMB - (- a
-~ 800" MIN. TAMB — CLEARANCE STEEL TUBE > =
CLEARANCE \ 2" TRACK w8
2" TRACK : ~—0 6.00" MIN. JAMB Yl o
—~——  6.00" MIN. JAMB ——{ ! CLEARANCE
CLEARANCE 5‘ 77 77 77 77
(/7 T 77 77 77 STEEL TUBE : ¥ DRYWALL
MIN. 11 GAUGE ! OPTIONAL 5T
% 3 THREADS |/ [l TF BACKING IS - )
MIN. ENGAGEMENT [ || SOLID STEEL §/
1 A ‘.-:: - -
T 7777 77 77 e (D

WINTER PARK. FL 32788

FBPE CERT. OF AUTHORIZATION NCL 25520

L

17-7-

KRISTINA S, DAUGHERTY
FLORIDA P. E NQ.BB455
127 W. FAIRBANKS AVE. STE 438

LOCATION WHEN USED WITH DRYWALL B R~
(Q?ERLRA: %ﬁgkf 3/8" STEEL SCREW - Eﬁ -
24" 0 Ci (DRILL ANDTAP 5/16" <
o DIAMIN. TYP.) o[> |3 i
S Y G
(] b4
< o i Bl Ol
/ TN\HORIZONTAL SECTION /TKOHORIZONTAL SECTION G #:
JAMBS - STEEL JAMBS - STEEL W/ DRYWALL
W REVERSE ANGLE MOUNTED W ANGLE MOUNTED BPCOO 3

SHEET: 4 OF 6




350 SIDE PANEL FRAME 6LASS STOP
BILL OF MATERIALS @ ALUMINUM ALUMINUM
ITEM NO, DESCRIPTION MATERIAL MANUFACTURER AL 5 T AL 5
|} 1.750"
1 350 SIDE PANEL FRAME ALUMINUM BP GLASS DOORS 3 & ' _"| "_ 1.000" BP-6LASS GARAGE DOORS & ENTRY SYSTEMS
" L BRYCE PARKER COMPANY, INC.
2 GLASS STOP ALUMINUM BP GLASS DOORS 0.065" —==— y _{ 3412 GIDLEY STREET
3 GLAZING GASKET EPDM GLS \7 3.243" —T— ]‘ PH: (626) 442-1716 £ (626) 579-5320
437" 0.065"
4 | WEATHERSTRIPPING EPDM 6Ls — 0437 . .
5 INTERMEDIATE RAIL (TOP) ALUMINUM BP GLASS DOORS 3 3R
WEATHER STRIPPING INTERMEDIATE RAIL SD3w| IS
54 | INTERMEDIATE RAIL (BOTTOM) ALUMINUM BP GLASS DOORS RUBBER (TOP) ALUMINUM wab| g%et
6 INTERMEDIATE HINGE 14 GA. STAINLESS STEEL | BP 6LASS DOORS TYPICAL WALL TYPICAL WALL SEZ| xg¥t
THICKNESS: 063" THICKNESS: 065" <z2|. 825,
7 | VERTICAL MULLION ALUMINUM BP 6LASS DOORS Ll SLE|EE3 'z
8 ANGLE 14 GA. STEEL BP GLASS DOORS 0.063" | R 1: 0.065" R R EE 3
9 | TRACK?2" 15 GA, STEEL BP GLASS DOORS - iﬁgﬂ- pos [TMEZ3
' o o =
10 | UNIVERSAL HINGES #1-#9 12 GA. STAINLESS STEEL | BP GLASS DOORS — by F &
11 HF-PIN BRACKET 12 6A. STAINLESS STEEL | BP 6LASS DOORS 0.836" | E
12 EFLECTION BRACKET 11 GA. GALV. STEEL BP GLASS DOORS INTERMEDIATE RAIL o INTERMEDIATE HINGE -
OEr ‘ @ (BOTTOM) ALUMINUM STAINLESS STEEL =
13 | REMOVABLE REINFORCEMENT ALUMINUM BP GLASS DOORS TYPICAL WALL T =
14 |3/8" U-BOLT & LOCK NUTS STEEL BP 6LASS DOORS THICKNESS: 069 %
15  |U-BOLTPLATES 12 GA. GALV. STEEL BP GLASS DOORS i 1.688" b 1.688"
1] Jih " M O Z
16 | TOP BRACKET 1/4" STEEL BP GLASS DOORS r 0.065 T 1o 250 1 'J') g
17 | TOP FIXTURE 12 GA. STAINLESS STEEL | BP GLASS DOORS 1366 T —hool=" ® | &
18 450 TOP AND BOTTOM PANEL ALUMINUM BP GLASS DOORS a &
19  |BOTTOM FIXTURE 12 GA. STAINLESS STEEL | BP 6LASS DOORS | s
20 | 3/8" DROP IN CONCRETE ANCHOR STEEL BP 6LASS DOORS
21 1/4" - 20 HEX BOLT & NUTS STEEL BP GLASS DOORS
22 |1/4"NUT STEEL BP GLASS DOORS KEAV!
23 | FLOOR FLANGE 12 GA. GALV. STEEL BP GLASS DOORS 1 = §
24  |3/8"X3"LAGBOLT STEEL BP GLASS DOORS = 0 L
. S r3
25 | 1/4" X 1/2" SELF THREADING SCREW STEEL BP GLASS DOORS I P~ S ;3355
26 |1/4" X 1/2" CARRIAGE BOLT STEEL BP GLASS DOORS o R 7N %EE
RS . gizs
1/4" X 20 GALV. THRU BOLT W/ NUT STEEL BP GLASS DOORS V= C}Q HEE
‘ =
= B B R
M EREHEE

BPC0O03

SHrEET: 5 OF 6




@

VERTICAL MULLION 0 ANGLE TRACK UNIVERSAL HINGES #1-#9 HF DEFLECTION BRACKET
ALUMINUM ST-‘l;PE[c-:ZLLW " STEEL STAINLESS STEEL PIN BRACKET STEEL
TYPICAL WALL TCAL WA . b
THICKNESS: 065" THICKNESS: 100" m}ii?\fg‘é";”fz5-- i STANINLESS STEEL 0.100"
; . 1.490" |~— J_—
—] l— 1,420 _>| 2.915" ]«— —=] =— 1422" @ 4‘ h_ * T BP-6LASS GARAGE DOORS & ENTRY SYSTEMS
— Fl—ﬁ- N Al Al :
1.750" oo 1 e 01257 i _ | — 0 1500' [ 0O0O 0000000 O "G giniey st
aid 2.761" | 440" @ H  0.620' 0.500" J_ t PH: (626) 442-1716 F: (626) 579-5320
. | [+o]
’ S 7 = 7.202" -~ 7000" ————] S 2
4.174" i : o o B
1] O, &
) ¥ m God 2
0.101" —w = —" N Li, 22_ 9 o
€9 ..ggﬁh
@ Os > 5
012" —mfjm— —=| 27837 |=— © 3 E & %g !
. X d BuLg 2
REMOVABLE REINFORCEMENT U-BOLT @ U-BOLT PLATES TOP BRACKET G2 |sM==E%
@ ALUMINUM STEEL STEEL STEEL E“J ?EG e
—~| 233 |— “ s "
_r 0.100 1.000" P
' OI o == o0 %
2.240" T © £
| 3.250" - J| O
10.000" | ~—— 5.000" —— - 0.250" | 2
TOP FIXTURE 450 TOP AND BOTTOM PANEL BOTTOM FIXTURE gq) E
STAINLESS STEEL ALUMINUM STAINLESS STEEL > g
|t 1t e (-lJ m
B 2.750 i — ol &
7 O 0 O O
3.193"
o ‘ RO.250"
/\ 5.366" 4.452" 5,201"
5.500" 60° -
1.952" O O o
—{l—  0.106" B g
N —= 1932" |=— %‘ggég
O 0 O — 22978
i 3000" |- et 17507 - 11.110" 53’%%5
FELSS
POATO" —_ _ i
FLOOR FLANGE 7<)\ v
STEEL *
! 2500" |lem— 1= 1= 1.
: 1652" — N R - [
i 1.500" Aprroved e complymg it | 3 |2 3 |S 2|2 2
T o el o e
3.000" [ 0.500" 1 0.300" f Mim e et [PWE #

|

RSy T —

SHEET: 6 OF 6



